= = ™
< o > = -
g < 5 |=| |5 <
S 312 1g |&| |8
g S| |8 |§| |28
] |z = = =
g o |5 © 8 w (T o | o R
T P15 |55 2 SR ERMEE
I 28|z | |5 ©®
o=t - |l= 10 © ©
ITREAEE IR
Bl |S8|8|2|5[E8 2 <
S |2R|T|8&8|5|3 g &
d z2 -l |8 | = 2
? > .mm N IR ° A
wig |g=|3 S
=2 |o N=| = o @
o (o Q0 ‘S ] < N
Cls |3 |8 8| 2z |g||l ®
28 |s [2] |zl¢2 58 3| =
g2 |£ |S $28|5 /2l 8
- g © 215 5| £ £ Z B
o a2 |@ 2E s SIS E 3
5 s |® 8123 EE|] &
@ S5/ 22| &
| — E &ma
5 <
. s | 3 < ™
w |2l 2|85 1B 5 =
z |ss|gz|=31g/8 2 23 =
o
<~
©
It omoluszabjod (0z1¢ ‘199 ﬁ@
W_ T -0 o T -0 T T nw T
5 3 9 ¢ _._< 90 (=OH | 668G | #1989 ~ w/u G ¢S
% W / oo %,
: __ \ owomiidezid 00719 199 18/ i
g = he) Nm.uuo_._@ L§°C=OH | 8¥'[8G| [G'G8G 0%
£ " = =
: \
S
o
2 \ AT o
] / 72 1=150'p Fuukzoau b o~
= 0 / 79'1=150°|b ‘Ruukzoaiu gpm
S 4\ 79 1=507p Oy =
T\ TER : (&) | i IS
=V - -\ o omonAidazid (099 “Ziom} m@ 0G¢=OH | 698G | 80¥8S »e Gel
\ 4 0£0=1s07 "NNe | g6l
. 080=150F 1w =[| I
~1\ —
3
] | (8 1 |
7Z'¥85=oup'zy ‘002 ‘TEM = 8 omoIUezZabjod 07 1¢ 199 .#WKD\ GC'C=OH | G#'G8G | 6F¢8S 08
\ N
/2R
N
=
<
S
3
8/°185=0up°zy ‘0020 ‘LEM _ | \r/uj A
987186=0Up'zd ‘002 ‘OSM =| : o owopazabjod 719 1o s\ =/ SI'T=OH | 87685 | €719 53 9
! >
Y]
I
e m.._“_g._ﬁ.V ..% _ - .
// 0£'0=1s0'lb “NN® S LO | G785
2 -~
I O _enih ¢ 2
/ 1 77'1=150° b %sﬁom_c N.E@ O ¢
3 ' N 77'1=0b ‘7¢b o\
= / " 18'6/G=15021 00z F ¢y
T\ omomjdezid (g “ziomy s 9
S\ R s — y7'1 =150 “fuukzoaur (gyb @ |12=0H | 008G | €L'6LG TG
T $9°)=150'1b ‘Auukzoaiu oQym ) %
/ 9°1=180'|p “Auukzoalu (gym O =Y | 0%
9 Jng%“_m@ ‘0915) f = :
= Lot ol S o[ 1%
t = C
19'64G5=bPupzy ‘0020 ‘8ZM i / \\ y7'1=150"16 ‘Auukzoaiu 8% @ ™~ -
¢9°6/5=0upzy ‘0020 ‘6eM = 10d 00719 199 18 TLC=OH\ = ) LO)| 81185 | 6816 QO g
O
79'1=150"|b “zom __ . ]
72'1=150°1b “fuukzoa b . = % G6l
79°)=150'jb ‘Auukzoaiu goym QL =) =
') =150'b Ak b : = .
g =150 qcc 031U ()8! D 0 M O 06l
° M ¢ 3 3 3
 \\ owonfjdozd 0ogp “ioy ¥ i \_2/ SI'T=0H | ¥£085| 6185 2| o[ 00
, //F 0L0=59F W@ o O
e £71=076 c9b P o e
\ / L[ L1G=1502 0078 D1 A
\ 251750 0o N
. £7'1=50'b “05b
\ // 19'1=1506 7Nq Auukzoau 7gyn G'¥6
i ——— 0£0=150'1D “NN® :
72 1=150°p “Fuukzoau 7gyb M., 006
// 00'6£S
/ 79°1=1s0'Jb ‘oM
/ ¢'1=1s0b 7eb
o s $9°1=180°|D “Auukzosiu (Qym .
oS mm._wmou@/éisec o) M., 0¢L
w0 I
1 L\ | ~ 2
ol TN\ Dhowazabjod (¢ 1g 13q 18 ] \ 8 ) ST=0H | ov'sLs| 858 2 099
i . . 3R
0|0 T et Ih ¢ (=] G
blo 19°1=150b ‘s Auukzoanu czym 0L0=1500 NN S 59
8|8 1 =s0h 76 L
5|% 6'7/G=150'21 "07S}
&l
gl =
ala M
N
gis L $7‘1=150°1b ‘Auukzoau ogyb
© f 49| =180°b ‘Auukzoelu (gym 0y
o, / 6G°0£G=15024 '00ZSM
= -
T _ 1\ omomjdezid g “ziomy s @ 08¢
=Val AN — 89'L=1s0b ‘o9n \ 2 /' 80C=0H | G1'9/G| 00%LG g¥e
o\ TN oo e =
0L'p/G=dupzy ‘0020 ‘Stm | " 08'0=150'1D 'NNoy \Mj 002
= % omoiazobjod 0z 1@ 199 I \_Z/ 607=0H | 08'GLS| €626 0'LC
/ . // 72'1=150'1D “;Auufzoaw o 7
+ 19°|=180'|b ‘; Auukzoaiu czym :
\\ N 0!
¢ 08'0=150°1D ‘NNay o G
\ - GGl
N~
\ // 0L'0=150 ‘NN o~
L E— . y7'1=190°1b ‘Auukzoaiu (gyb
® / i // $9°)=150'jb ‘Auukzoaiu pgym 06
DI ——x 7' =50'6 ‘g6 o :
m / g7/ =106 “fuufzoeu og)b . . ] 05
26'1/G=Dup'zy ‘Glgq ‘zozsep joudy | 0£0=1501b ‘NN “loud @ 0§79/ | 615 A <
26'1.G=oupzy ‘06zq 3| pmoluazobjod 190 18 (= 7=0 Y
Goun2y 10570 wazobjod (g1 19 \ =/ 9= =
¢ Ju Auoidaspz Auzooq Jpupy O H
@) 2|2
- h =
TS o = =| E
V/2 6 (- P\J -
®) | o = S|l = .=
N - — [ R (] /C
N 4 . (@) () m tQJ
N M Ql @ .= = | | D
(B O O (] = | =
- | |2 === s 3
= Qe Z1sl=<|8|Z
—_— = - —
g 25|15 8|5
O . - o | SR o o] =
2O s|s|&l |l .|s
O > | > S| o] o=
o e e ) el e




